( ] 78 THSEE ARBRFBEIRGLAZMO HE: &

A 5l 4H 5H 68
X5 T H H = |[HE R =] #H 8 |Hh= R =] #H = [H®
g 1z MR E 1,559,196] 100.0 MR E 1,852,748| 100.0 HERE 1,519,296] 100.0
1 {u SPHEET 270,080 17.3 [ K¥%EEt 308,510| 16.7 | K& $Rat 285,230 18.6
2 fi REHEE 252,170| 16.2 | SPH¥EET 299,550 16.2 | SPF %A 257,580 17.0
3 fu H—r—a5EE 152,235| 9.8 | h—R—Ia 5t 261,027 14.1 | h—FR—a 5Fat 131,714] 8.7
4 e 95,850 6.1 | [FofEEt 113,367 6.1 | [FofEst 110,657 7.3
5 fiI ARE—FR 93,719| 6.0|RF—FA 98,295| 53 ARZ—FX 18,772 5.2
6 fu INGERET 83,070 53 [H—AF 83,839 4.5 tDTEIRLITE 68,345 45
7 I H—ARZ 72,713| 4.7 | iDTEREITE 73987 40| /MNEFEE 57,395 3.8
8 fi b DTERLITE 62,571 4.0 | MNE%RE 65570 35[H—R3 50,788 3.3
9 fu AT RILPY 40,384| 2.6 | BRNITHED 50,857 2.7 MLOKEAE 49,983 3.3
1041 TILAROA)F 40,322 2.6 | fthD—Z=FHN3E 46,043 25| AUTFILPY 46,698 3.1
a2k 396,082 254 [ £tk 451,703| 24.4| ZDis 382,134 25.2

A&l 1H 83 9R
X5 T2 | H B [HE R B % B[R R B #® 8 |Hh=
g 1z IR E 1,513,212] 100.0 R E 1,969,712| 100.0 R E 1,635,037] 100.0
1 {u SPHE ¥R 253,180 16.7 [ K% %t 406,440| 20.6 | SP%aat 304,280 18.6
2 fi REHEE 251,120 16.6 | SPF%EET 389,972| 19.8 | K¥$Hat 277,757 17.0
3 fu H—r—a5EE 166,939| 11.0| h—R—I 3 5t 184,317 94| A—xr—a 5 192,335| 11.8
4 (Fo5EE 98,513 6.5 | /NgE%EE 165415| 8.4 | /MNEEEt 123,630 7.6
5 fiI INGHRET 97,140 6.4 | thDTERYITE 97,556 5.0[YAES 85,660/ 5.2
6 fi fth DTERYITE 77,632 51 |RARZ—FX 77,560| 3.9 | [FofEEt 80,439 4.9
7 I ARE—FR 57520 38|YAES 71,690 3.6 | MLOKEE 61,097| 3.7
8 fi YAED 48,830| 3.2 | MLOfEEE 71,665 3.6 [ tiDTEIRLITE 56,048 34
9 fu MLOKEE 47,801 3.2 | [FofEE 70,867 36| HA—ARF 47315 2.9
1043z AT RILPY 46,693 3.1 |AUTIEILRY 57,948 29| AYUTELRY 47,108 2.9
xa2l 367,844 244 | T Db 376,282 19.2 [ £l 359,368| 22.0




( ] 78 THSEE AMNERBMEIERNZXNO0 £

2 K
A5l 10H 11 12
X5 & 8 B 2 [LkE & B B = |HkkEFE & B B} 2 [Lkk=E

I§ {1 Rk E 1,415,222| 100.0 HREIRE 1,287,962| 100.0 HREIRE 2,234,683| 100.0
1 fu REFEE 268,295| 19.0 | K& %At 217,206 16.9 | KZfEET 464,200| 20.8
2 i SP#$EET 258,130| 18.2 | SP%¥EET 211,800| 16.4 | SPH$EET 435,730 19.5
3 i h—r—a 5t 188,775 13.3|h—x—1a %85t 139,235 10.8| h—=r—3i a3 ¥Est 223,035| 10.0
4 i (X555 74,091 52 | (X558t 78,519 6.1 | NEgEEET 159,200 7.1
5 {i INGGFEET 64,980 4.6 | NEEEET 68,725 53| RA—FE— 85,800 3.8
6 i D ERLITE 53,577 38| RF—FR 52,359 41| R3—FR 84,203 3.8
7 i kILOtERE 50,628 36| H—RS 47,070 3.7| IE55EET 83,473 3.7
8 fi -5 46,867 33| AVTRILDY 41,231 32| AVTAILDY 60,135 2.7
9 i YAES 43,890 3.1 | tDFEIRLITE 39,915 31| H—ARS 57,639 2.6
1041 TUI7—L 42,570 30| FLatERE 37,795 29| ToI7—L 51,910 2.3

Z D1t 323,419 229 | ZDith 354107 275 | ZDit 529,358| 23.7

A5l 1A 24 38
X5 & B B 2 |Lk=E & B B = |Lk=E & B B = |Lkk=E

g {1 HREIRE 1,378,333| 100.0 REIRE 1,507,610] 100.0 REIRE 1,899,481( 100.0
1 fx SP#HEET 242010| 17.4| SPZE¥EET 249,010| 16.5| SPZ¥EET 301,230|] 15.8
2 i REFEE 229,790| 16.7 | X% $EE 215,800 14.3 | X&E$E:t 248,810] 13.1
3 i h—F—a %EE 120,627 88| h—x— a3 %HET 129,783 86| h—r—a fEEt 199,957 105
4 i R —kE— 103,250 75| R4 —FE— 103,200 6.8 | /NEEEET 138,150 7.3
5 {i (L5585 59,346 4.3 | /NEEEEET 77,090 51| R4 —rE— 94,440 5.0
6 i INGSFEET 55,850 41| H—RJ 64,485 43| H—RS 86,800 46
7 i H—R3 52,050 38| R2—FX 63,089 42| R2—F X 84,660 45
8 {i REA—FR 48,366 35| IE55EET 58,423 39| (Xo%E:t 82,102 43
9 {i AT ALY 39,505 29| Ay 47,096 31| thDERLITE 57,542 3.0
101z TUI7—L 37,530 27| Fa-1v7 41,321 27| Fa-1)v7 49,180 2.6

Z Dt 390,009| 28.3 | FDith 458,313| 30.5| ZDith 556,610] 29.3




( B10) THSEE ARERKBEIEZANRNO HE &
A 3 45 5H 65
X7 am___H BB k= am_H BB k= am_ H BB |Hh=
IE_{ir BEEE 74,067| 100.0 BEIRE 88,887| 100.0 BERIRE 76,823| 100.0
1 i LDERLD 57,980| 783 | iDL D 70,345| 79.1 | thDERLD 98,235| 75.8
2 fu SHE 9,718 131 |SAE 11,603| 13.1| SAE 10,517| 13.7
3 fi LEH 2016 27|LEH 2,738 31| L&EH 2820 3.7
4 fu LIE 1,499 20|LIE 2526| 28| LIE 2468| 3.2
5 fu STEY 1,455| 20[7HY7 590| 0.7 E# 2025 26
6 fu s 665 0.9 |# 450 05| F7HL7 418] 0.5
7 fu THYT 410| 0.6 | EH 395| 04| ®MmX 150 0.2
8 fi 2oL 214 03| CTFY 100 0.1 CTFY 60 0.1
9 fu H 50| 0.1 |@m=X 75| 0.1 #H 90 0.1
10 | EH 30| 00|29 65| 0.1|# 45| 0.1
i3 30f 00 D 35/ 0.0
A A 15 8H 9H
X5 & B | % B |Hk® @ B # 8 |tk @ B # 8 |H=E
IE_{sr BERRE 105,671 100.0 BEIRE 99.211| 100.0 BEIRE 119,940/ 100.0
1 fi fLDERHLD 84,373| 79.8 | iDL D 73,802| 743 | thD&ERLD 94,158| 785
2 fu SHE 12,027] 114 |SHE 13,863| 14.0| =AE 13,175 11.0
3 fi LEH 3518| 33|LIF 4320 44| LEH 4519] 338
4 fu LIE 2356 22|LEH 4,095| 41| LIEE 3632] 30
5 fu A 1,310 12| 7H7 1,771 1.8 #0 3055 25
6 fu 4 1,070] 1.0[#0 980| 1.0| EMW 795 0.7
7t | FHVT 874| 08| EH 370| 04| 7HVTF 581| 05
8 fu EES 100 0.1 | &+ 10 00| @mX 25| 00
9 fu % 30 0.0
10fi | 22L 13] 02




( B10) THSEE ARBRHEIRGANZNO WE. =
A3l 108 11 12
X% & B | % B |Hk® @ B % B |Hk® @ B % B |Hk®
IE_{ir BEEE 103,975| 100.0 RIS 94,249| 100.0 WIS 327,826| 100.0
1 i LDERLD 83,780| 80.6 | iDL D 75,648| 80.1| thdxRLD 114,080] 34.7
2 fu SHE 11,044| 10.6 | SAE 10,639 11.3|#4 108,285| 33.0
3 fi LEH 2,748| 26 |H 2535| 27|Fm 90,106| 15.3
4t |4 2.455| 24|LEH 2,158 23|15 15939| 49
5 fu LIE 1,886| 1.8[LIX 1,766| 1.9 | EX 13,796| 4.2
6 fu THh7 1,393 13[7HY7 473]| 05| sHE 13,517 41
7 fu E4 520 0.5 [FIF 351 04| LEH 4296 1.3
8 fi i 74 01 [EH 240 03| LIF 4143] 13
9 fu Edbs 55| 0.1 ([#k 200] 0.2 # 2,135 07
Tof | # 20| 00 |mX 190 02| FiH 730 02
D 49 0.1 [ £tk 839 03
A Al 17 27 3R
X% & B | % B |Hk® @ B % B |k® @ B |# B |k®
& {5z eIk E 45,891] 100.0 IR E 68,251) 100.0 IR E 84,472)| 100.0
1 fi fLDERHLD 28,705| 62.5 | iDL D 32,632| 47.8| thDERLD 48,315| 57.2
2 fu SHE 7419| 162 [T7Hh7T 10,761| 15.8| SAE 10,362 123
3 fi il 3380 714 |=hE 8,304| 12.2| #x 7,309 87
4 fu S 1,487| 3.2 [ 6,195| 9.1 [F7hHI7T 6,526| 7.7
5 fu LIE 1,260 2.7 [ # 3232] 47[ZTFEY 4457] 53
6 fu LEH 1,067 23| =T3EY 1,865 27|LIE 2270 27
7 fu STEY 850| 1.9 | EH 1,535 22| L&E#H 2,198] 26
8 fu THhY7 643 1.4 #0 1,495| 22| # 1,388 1.6
9 fu EW 535 1.2|LIE 1,080 1.6 | EM 795 0.9
1041 B 200] 04|LEH 864 13| (Xl 394| 05
Z D 355| 0.8 £nfth 288| 04| Z0fth 458] 0.5




( #3m)

T SEE

ARIEERMEIERLRAMO

= 8
A 5l 4 A 5H 68
X5 AR B o = |l T = i = |3 B = o = |l
JI§ £2 KERE 62,019] 100.0 HREk=E 93,863| 100.0 Rk = 58,957| 100.0
1 fiL fth D EATE 25,647 41.3 | thDETE 43,373| 46.1 | thEkIE 21,039 35.7
2 fi fth DERZEHEY) 10,116[ 16.3 | thDARAZE 12,000 12.8 | thDERFEIED 14,580 24.7
3 fiI thDAARLE 8,296 134 | /NAKSTT 10,335 11.0 | thDKALE 9,448 16.0
4 i INARSUDT 4573 74| thOEEEY 9,259 99| CHLIHA 2,550 4.3
5 {i ZHESHA 2581 42|)—H—RRJ=7 4081 43| AZvax 2,148| 3.6
6 fi hS5rax 2279 3.7|H3rax 3,105| 33| U—H—ARI=7 1,396 2.4
7 fi )—H—RARI=7 1630 26| CHLSHA 2842 30| /NAFSLTT 1,360 2.3
8 fi t= 1610 26| D7 2,683 29[~J=7 1,275 2.2
9 fi FS5=aH L 997 1.6|L7 1,003] 11| L7 1,039 1.8
104z L 670| 1.1 |t FR—-U7 903| 10| AVN\FIUR 695| 1.2
ZDih 3,620 5.8| D 4279 4.6| ZDih 3427 58
ARl 1H 8H 9H

X5 AR B iy = |HE B H oy = |t B H oy = |HE
JI§ £z HREk=E 34,447] 100.0 HREkE 27,474] 100.0 HWEkE 41,622| 100.0
1 fiI #th D EATE 10,402 30.2 | thDEREHEY 8,757 31.9| b kTt 16,016 38.4
2 fi fth DERZEHEY) 9,565| 27.8| thDEKIE 6,437 23.4| thDEEEY 9,242 222
3 fi thDARALE 5,386 15.6 | thDAALE 2,909 10.6 | fthDARALE 4034 9.7
4 fir HEIBA 2832| 82|ZH&35A 2,854| 104| ZH&55A 2,322 5.6
5 fi horax 1,148| 3.3|Ryb<L 1,359] 49| Ryb< L 2,255| 5.4
6 fi )—H—ARIT=7 948| 28|AH35rax 1,130 41| A5>ax 1,357 3.3
7 fi L 663| 1.9|V—H—ARIT=7 798| 29| ~ANJ=7 1,338 3.2
8 fi HRT 614 1.8[L7: 617 22| TH95Av 960| 2.3
9 fi INARZUDT 513 15| YRTY 444 16| V—H—RARIJ=7 945| 2.3
1041 RER 369 1.1 [RrR 386 1.4 YARTv 737] 1.8
Z D 2,007| 5.8]| ZDith 1,783 6.6 | TDfth 2416/ 58




( #x+m) S SEE AREURHBEIERINZXF0 ME 4%
A5l 10H 11 12
X5 AR B o = |l T = i = |3 B = o = |l
JI§ £2 KERE 40,120| 100.0 HREk=E 80,303| 100.0 Rk = 49.816| 100.0
1 fiL fth D EATE 10,312 25.7 | b EA7E 28,107 349|954y 15,887 31.9
2 {u thDEENEY 7,771 194|952 17,193| 21.4| thDEATE 15,584| 31.3
3 fi thDAARLE 5772 144 | thDEZENEY 8,107| 10.1 | thDERELEY 3421 6.9
4 fir DITAY 4735 11.8|RAVEFT 7371 92| R4 tF7 3,320 6.7
5 fi Ryb< L 2526] 6.3 |thDAKEE 6,664| 8.3 fthDARALE 2,108| 4.2
6 fi HEIBA 2216 55|3=77— 2886| 36| EYa—LA 1,975 4.0
7 fi a=J7— 1,040 26| CHLSHA 2331 29| ZHL55A 1543] 3.1
8 fi t= 941| 23 |V—H—ARIT=7 1254 16| Ah5>ax 1,068 2.1
9 fi RIJ=7 927| 23|I EVa-—L 793 10| TULS 908| 1.8
104z horax 714 18| AH5vax 782 10| U—H—RRJ=7 745| 15
ZDih 3,166 7.9| D 4815 6.0| ZDith 3,257 65
ARl 18 2A 3H

X5 AR B iy = |HE B H oy = |t B H oy = |HE
JI§ £z KERE 28,580] 100.0 HREkE 57,224| 100.0 HWEkE 60,294| 100.0
1 fiI #th D EATE 13,653 47.8 | thDEATE 29,114| 50.9 | #hdEA7E 28,578| 474
2 fi D EREHEY 4124| 144 | thDEEEY 8,463 14.8 | thDEREHEY 7,151 11.9
3 fi J) L5 2,098| 7.3|HDARKLE 3973| 6.9 thDAKRALE 7,100 11.8
4 fiI D ARAEE 1,347 47| CbH&55A 2,361 41| E3=avL 3,071 5.1
5 fi horax 1,320 46| TULT 2295| 40| ZH&556A 2,410| 4.0
6 fi HEIBHA 1,165 4.1 |Hh3>ax 2002| 35(Ha4RU7 2,183| 3.6
7 fi AT 1,062 3.7|E3=avL 1,208 21| h5rax 1,650 2.7
8 fi +S5=am L 638| 22|Ha4xU7 1193 21| FrRkAEa—LA 1,350 2.2
9 fi DOTA 587 2.1 |#DBA 1,042 18| NAKSUTT 1,188| 2.0
1041 HRTY 500 1.7|TFTvRAEa—L 933| 16| U—H—RRI=7 1,149 1.9
Z D 2086 7.4|%Z0iH 4640 8.2| Zmith 4464 74




( Z0it)

TH

S5FE

ARIEERMEIERLRAMO

M= —
A 5l 4 A 5H 68
) & ] B = |t=E & B B = |HE & B = |t=E

I§ {1 Rk E 232,155] 100.0 HREIRE 130,871] 100.0 HREIRE 153,406 100.0
1 fu e 59,628 25.7 | thDIEE 59,897 45.8| HLDIEH 111,442 72.6
2 i HOFEH 48,983 211 | thDFEH 19,559 149 | thDFEH 10,111 6.6
3 i FTAH 25620 11.0|~<U—d—JLF& 14113| 108 | Y ILET7HEH 9,796 6.4
4 i HYILETHE 20,370 88| HIETHE 8,268 63| ¥)—d—ILFH 9,180 6.0
5 {i F—< 18,256 79| FRH 6,076 46| R—Fa5HhE 5,266 3.4
6 i 4] 15,708 68| vk 5,637 43| F*aoUHE 2,920 1.9
7 i FaoUE 14,028 60| E—< 5,504 42| RFa2=TH 2,164 1.4
8 fi <) —d—JLFH 12,118 52| FahUsE 4,900 37| kR E 864 0.6
9 i RF21ZTHE 8,414 36| R—FashH 2,940 22| FhOith 633 0.4
101 AL H&@E 6,060 26| RFa=TH 2,124 1.6 | 7X@ 576 0.4

Z D1t 2,970 1.3 £Dih 1,853 1.6 | ZDith 454 0.3

ARl 1H 84 98
X5 T B iy = |HE T H oy = |t T H oy = |lE

g {1 HREIRE 30,265] 100.0 REIRE 35,7051 100.0 REIRE 103,980( 100.0
1 fx e 21,817 721 | D FEE 16,219| 454 | thDFHEE 55,748| 53.6
2 i R—Fa15hE 2,660 8.8 | thDiEE 14275| 400 | thDiEE 29.020] 27.9
3 i hOHFES 1,890 6.2 | ¥F3OUHE 1,680 47| RF2=TH 10,4441 10.0
4 i =Ly )] 1,360 45| HILETHE 952 27| =U)—d—JLF&E 6,248 6.0
5 fi RFa1=TH 732 24| FAHE 900 25| Fa0UE 2,072 2.0
6 i HILETHE 700 23| RFa=7H 784 22| HILETHE 364 04
7 i TY—d— LK 596 20| E—~<>&E 392 11| F+R&E 84 0.1
8 {i F—<o 324 11| R—Fa5hE 352 1.0
9 {i T hE 120 04| ~<)—3—JLF&E 140 0.4
104 Z Dt 66 0.2 | =Dt 11 0.0




( Z0it) THSEE AMNERBMEIERNZXNO0 we. _
A 5l 10H 11 12
X5 T H H = |[HE R =] #H 8 |Hh= R =] #H = [H®
g 1z MR E 165,397] 100.0 MR E 288,177] 100.0 HERE 107,220] 100.0
1 4L D EFxRE 106,079 641 | /A>T —H 122,594| 425| N\oo—H 46,912 43.8
2 fi fth DIEEE 33,983 20.5 | thdiEE 82,091 285 | DIEHE 39,110 36.5
3 fu A ] 18,274| 11.0 | DFHEE 38,722| 13.4 | E[EFf-AHE 5,841 9.4
4 £ RF1ZTH 6,049 37| RE—H 24,396| 85| DEFXE 9,628| 5.2
5 fiI EIF-AE 868 0.5 |RFa=TH 9296 32 AFaiz7H 4804| 45
6 fi T—U—H 120 0.1 | EEFFAE 8,796| 3.1 |HKRE—H 2800] 26
7 I Z D 24 01 |T—-Y—H 2064 07(7T—-C—H 1,624] 15
8 fi HIILETH 192| 0.1 | ZDfis 501 0.5
9 fu a2l 26| 00
1041
ARl 1A 2H 38
X5 T2 | H B [HE R B % B[R R B #® 8 |Hh=
g 1z IR E 62,661 100.0 R E 92,531 100.0 R E 126,270] 100.0
1 {u fth DIEE 32,792 52.3 | fthiEE 41,723 45.0 | hDTEE 38,982| 30.9
2 fi NUD—H 18,515| 29.5 | DEFFHE 21,884 23.7 | DFFXE 28,344 224
3 fu thDEFxRE 4212 67| /1\vo—H 11,084| 12.0]| bxbE 11,730] 9.3
4 fr RFaz7H 3056 49| RFaZTH 4390 47| RFa=T7H 10,274] 8.1
5 fiI T—U—H 3016| 48|7—-C—® 2828 3.1 [FRAH 9,492 15
6 fi RE—H 1,064 1.7|%)—T—ILRH 2,740 30| <Y—d—JLKE 8,360 6.6
7 I Z D 6] O0.1|HYILETH 2650 29|E—< H 6,300/ 5.0
8 fi FTRE 2352 25[FavuE 6,076 438
9 fu FRE 1,764 19| YILETHE 3,556| 2.8
1041 ] 952 1.0| RMAE 2272] 1.8
xa2l 164 02| ZDih 884 0.8




